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Note: > T .
s Anemptall Scetions. If require any missiny dats; then choose suitably.

SECTION A 2xT =14
1. M'““P_‘ all questions in brief, e -
I plain the difierence huww" L!ULk LY‘-‘I‘-' ¢ and f:lot.k ﬁ“qu"“"y e e =
|1 l..'f‘El?"“ about \r-.l’nn'mlu and 1. ugu. Um’t e e T T
I v. wh.l i bub Hl‘h'llrn"un ? - e e b g —
F'd " Define RISC, T ST R —
| { Discuss the pr meiple “PLTHlmn u| Micry pt"ﬁ_j,run'.}hcc‘.\- contro! unit. 7 ]
E ot h?l s the nced for DM*\ ll“ﬂnsl'u*- com T
g Ilﬁne HIT and M S ra e = = T
) ISS rauu in ‘“‘-muw with an cxamplc o I
1. .
'\“T 'h'“\' Ny rhree of the following: SECTIONS Tx3=21
With a . y &2
general block diagram, eXplain the functions of the processor registers. '

b, [I;mcuﬁs various techniques used for T Modes of Transfer? ¢
¢ : fl:a\:( the Nowchar for Booth multipijcation algorithm. And multiply ’
(-21) using Booth's algorithmg, -
lefcrenuate synchronous and asyn-..hronous communication?

1
l L\piaﬂﬁn and 2-12D organizations with their merits and demerits.

(-

3 SECTION C
. Attempt any one part of the following: Txl=7
!‘-1. - L‘Yh_ﬁl_ '_?_I:_’“*' al‘blll‘ahm@blam ? Ftplum the four schemes for bus master and slave. |

_, Design 4-bit cnmhj@&mnal oircuil using 4 full adders. #

T
4. .‘Lﬂﬂl'n_pl wny one fthe following: Ix3 =7
bxplaln instruction Eormat in detail. L e

b, P“P'“‘F\@Out address sequencing in control memory with neat diagrams?
- =

- e

s. \ttempl any one part of the following: Tx1=7
| a. r Skclch thc ‘intemial organization of CPU out with its functlonahtles and block diagram e ! t

What do yuu mean instruction cycle? How is instruction exccuted? Explain the interrupt 1
‘ | ¢ycle with an example. _ i

6. Attempt any one part of the following: _ L Ixl=7
i Describe the Input-output subsysiem organization and interfacing » _ ]
b, Jf(nve the block diagram of DMA cantroller? Why are the read and write control lines in
 a IDMA controller bidirectional? Under what condition and for what purpose they are \
l us-.d as inputs? Undcr what conditions and for what purpose are they used as outputs?
Txi =1

e e

7. Attempt any one part of the following:
-l ‘F\ hd[l.‘].l'i. the different mdpp:ng w-n.ht nes dcpioyed in virtual memory y and -..xp\am‘-‘ ¢
ST6AK*16 and 8 s cache memory of {K words.

} h. | A d_ligﬁ.al computer has a memory unit of
of four words.
| the cache memory uscs direct mappitg with & b SR L o word el of the

| How many bits arc there in the tag,

| I' address format? " odate? \
! . cache can accom
| : ii. - How many blocks cac h word of the cache? Include a valid bit. |

i How many bits are there in eac
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